Downl oaded From : http://bankexanportal . con

17 Institute of Banking

srs Parsonnel Selection

IBPS PO

Insttute of Banking Personnel Selection

(Papers) IBPS PO Exam Paper - 2015 " Held on: 31-10-2015"
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DIRECTIONS (Qs. 1-5) : Each of the questions below cionsists of a question and two statements
numbered | and |1 given below it. Y ou have to decide whether the data provided in the statements are
sufficient to answer the question. Read both the statements and

Give answer (a) If the datain statement | alone are sufficient to answer the questions, while the datain
statement |1 alone are not sufficient to answer the question.

Give answer (b) If the datain statement |1 alone are sufficient to answer the question, while the datain
statement | alone are not sufficient to answer the question.

Given answer (c) If the data either in statement | alone or in statement 11 alone are sufficient to answer
the question.

Give answer (d) If the data even in both statement | and |1 together are not sufficient to answer the
guestion.

Give answer (e) If the datain both statements | and 11 together are necessary to answer the question

1. How is ‘party’ coded in the language ?

I. “‘going to aparty’ is coded as ‘lafaqu tu’ and ‘“for aparty’ iscoded as ‘fametu’.
Il. “start the party’ is coded as ‘tu co ra’ and “‘going to start’ is coded as ‘qu co |1&’.

2. On which day of the week is Priya definitely travelling ?
I. Amita correctly remembers that Priyais travelling after Tuesday but before Saturday. Rohit correctly

remembers that Priyaistravelling before Friday but after Monday.
I1. Priya does not travel on a Friday.
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3. HowisPrelated to A ?

I. A isthe daughter of M and the sister of S.
IlI. K isthe son of P and the husband of M.

4. Four movies ar e screened from Monday to Thursday, (one on each day starting on Monday and
ending on Thursday) viz - Crash, Social Network, | ce Age and Notting Hill. On which day isthe
movie Crash screened ?

|. Social Network is screened on the last day.
I1. Neither Ice Age nor Notting Hill are screened on Monday.

5. Who sitsto theimmediate right of Ayesha ?

I. Four friends Shradha, Tania, Vimlaand Ayesha are sitting around a circular table facing the centre.
I1. Shardha sits second to the right of Tania. Vimlais an immediate neighbour of Shradha.

DIRECTIONS (Qs. 6-10) : Study the following information to answer the given gquestions

A word and number arrangement machine when given an input line of words and numbers rearranges
them following a particular rule. The following is an illustration of input

and rearrangement. (Single digit numbers are preceded by a zero. All other numbers are two digit
numbers) Input : Good 18 to raise 02 12 money 28 for 57 charity 09.

Step | : togood 18 raise 02 12 money 28 for charity 09 57.

Step Il : toraisegood 18 02 12 money for charity 09 28 57.

Step I11 : to raise money good 02 12 for charity 09 18 28 57.

Step IV : toraise money good 02 for charity 09 12 18 28 57.

Step V : to raise money good for charity 02 09 12 18 28 57.

Step V : isthelast Step of the arrangement of the above input astheintended arrangement is
obtained.

DIRECTIONS (Qs. 6-7) : These questions are based on the following input: Input : always 19 give 21
84 for 62 14 worthy cause

6. Which of the following would bestep |11 for the aboveinput ?

(a) worthy give for always 19 14 cause 84 62 21.
(b) worthy give for always 14 19 cause 21 62 84.
(c) dways give for worthy 19 14 cause 21 62 84.
(d) worthy give for always 19 14 cause 21 62 84.
(e) always give for cause 19 14 worthy 21 62 84.

7. How many stepswould be needed to complete the arrangement for the above input ?

@ VI

(b) V

(©Iv

(d) v

(e) None of these
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DIRECTIONS (Qs. 8-10) : These questions are based on the following input : Input : 50 62 tips on 67
how can 42 stay young 17 89 forever 03.

8. Thefollowing stands for which step of the arrangement ? young tips stay 50 on how can 42 17
forever 03 62 67 89.

(@) Step 111

(b) Step V

(c) Step VI

(d) Step 1V

(e) None of these

9. Which of the words/number sbelow would be at thefifth position (from theright end) in Step V
of theinput ?

(a) forever

(b) 42

(c) 50

(d) young

(e) None of these

10. Which of the following would be the last step for theinput?

(a) young tips stay on how forever can 03 17 42 50 62 67 89.
(b) young tips stay on how forever can 89 67 62 50 42 17 03.
(c) can forever how on stay tips forever 89 67 62 50 42 17 03.
(d) young tips stay on how forever can 03 17 42 50 67 62 89.
(e) can forever how on stay tips young 03 17 42 50 62 67 89.

DIRECTIONS (Qs. 11-13) : Read the followign information carefully and answer the quesitons that
follow.

Ruling governments in the west are being punished by the voters for ever rising unemployment rates.
Their parliament is abuzz with campaigns, marked by criticism of India as an outsourcing hub. Indiais
seen by many in the west as aland of call centres and back offices with cheap labour that cost people in
the west, their jobs.

11. Which of the following statements would weaken the argument given in the passage ?

(a) Outsourced jobs do not require highly skilled and qualified employees.

(b) Nearly 34% of the unemployed people would secure jobs in the west if outsourced jobs werein
sourced by their organisations

(c) After suffering heavy losses in the elections the governments in the west are expected to change their
decision on outsourcing to India

(d) Outsourcing, adynamic, two-way relationship has created jobs and growth in India as well asthe
west.

(e) Although outsourcing to India allowed many companies in west to focus on their core operations,
they heavily compromised the quality and the standards of their back office jobs.

12. Which of the following can be a possible reper cussion of the opposition to outsourcingin the
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west ?

(@) Jobs which are currently outsourced to India would be transferred to another country which in all
probability would be China.

(b) Call centres and back offices employeesin Indiawould expect asalary at par with their western
counterparts.

(c) In-sourcing of jobs by the west would render thousands of Indians unemployed.

(d) If in-sourced in the west itself, the companies would not be able to employ professionals and experts
of same quality as availablein India.

(e) The western companies which earlier outsourced to Indiawould benefit financially as offices would
not have to be set oversess.

13. Which of the following can beinferred? (An infernece is something which isnot directly stated
but can beinferred from the given facts)

(@) Unemployment in Indiais not as severe a problem as that in the west

(b) Employees working in the back offices and call centresin the west earn much more than their
counterpartsin India

(c) Developing countries such as Chinaand India do not outsource their back office jobs at all to other
countries

(d) Countries which do not outsource jobs do not face the problem of unemployment

(e) One of the main reasons for high unemployment rate in Indiaisits clean of call centres and back
offices which undertake outsourced work from the west

DIRECTIONS (Qs. 14-19) : Read the following information carefully and answer the questions that
follow.

(K,L,M,P,Q,R, Sand T are sitting around a square table in such away that four of them sit at four
corners of the square while four sit in the middle of each of the four sides. The ones who sit at the four
corners face outside while those who sit in the middle of the sides face the centre of the table.) P sits
third to the right of S. Sfaces the centre. Q sits third to the left of M. M does not sit in the middle of the
sides. Only one person sits between Q and R. R is not an immediate neighbour of M. T faces the centre.
K is not an immediate neighbour of R.

14. What is position of M with respect toL ?

() Third to theright

(b) M and L sit diagonally opposite to each other
(c) Second to theright.

(d) Second to the left

(e) Fifth to theright

15. Who sitsexactly between Q and R ?

@T
(b P
©K
(dM
(e) Sand K
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16. Which of the following pairsrepresentsthe persons seated in the middle of the sideswho face
each other ?

@3S Q
(b) K, L
©M,P
dRT
@©eTQ

17. Who amongst the following sits between R and K when counted in anti-clockwise direction
fromK ?

(a) No one sits between R and K as R and K are immediate neighbours of each other
(b) S, Pand

(c)Pand Q

(dLandR

(e)M,Sand T

18. If K ismade to face the opposite dir ection, who would sit to hisimmediateright ?

(@R
(b) Q
(©P
(dT
(€)S

19. Four of thefollowing five are alikein a certain way and so form a group. Which isthe one that
does not belong to that group ?

(@)L
(b) M
() K
(d) P
(e) R

DIRECTIONS (Qs. 20-23) : Read the following information and five statements given below it
carefully and answer the questions which follow.

Exodus from rural areas to the urban hubs in search of job opportunities has now declined to nearly
twenty-six percent of what it was at the turn of 21st century. (A) Since the last decade, the rural
economy has transformed itself into a bankable, profit making and commercially viable venture. (B) Job
opportunities differ in urban and rural areas (C) The load on infrastructure and resources in the urban
areas which had remained unmanageable for along time has been eased a little since the last decade. (D)
This trend of reverse migration which was seen only in developed countriestill now has entered the
scenes of developing nations as well (E) According to arecent report more than eighty

percent of the professionals having rootsin rural areas prefer to work in urban cities rahter than their
home villages.

20. Which of the statements numbered (A), (B), (C), (D) and (E) mentioned above r espresents an
effect of the given information most appropriately ?
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(@B
(b)C
(D
(d)C
(e) Either D or E

21. Which of the statements numbered (A), (B), (C), (D) and (E) mentioned above represents a
cause of the given information most appropriately ?

(&) E
(b) D
(©C
(d) B
(€) A

22. Which of the statements numbered (A), (B), (C), (D) and (E) mentioned above represents an
assumption most appropriately ? (An assumption is something supposed or taken for granted)

(@) A
(b) B
(c)C
(d) BothA and C
(¢ D

23. Which of the statements numbered (A), (B), (C), (D) and (E) mentioned above would weaken /
contradict the facts presented in the paragraph ?

(@ A
(b) B
(©C
(dD
(e) E

DIRECTIONS (Qs. 24) : Question below isfollowed by three arguments numbered I, I1 and I11. You
have to decide which of the argument(s) is/are “strong” and indicate your answer accordingly.

24. Should the Government restrict use of electricity for each household depending upon the
requirement?

Arguments:

l. Yes, thiswill help government tide over the problem of inadequate generation of electricity.

I1. No, every citizen has right to consume electricity as per their requirement as they pay for using
electricity.

[11. No, the Government does not have the machinery to put such arestriction on use of electricity.

(@) Only | isstrong

(b) Only Il isstrong

(c) Only I and I are strong
(d) Only Il and Il are strong

Downl oaded From : http:// bankexanmportal .con


https://bankexamportal.com
www.bankexamportal.com

Downl oaded From : http://bankexanportal . con

IBPS PO (Probationary Officer) Study Kit

= I'l » 100% IBPS PO Exam Syllabus Covered
grégam | 6Books, 1100+ Pages %ﬁ
O H » 5000+ MCQS

E
L]

Solved Papers & Mock Tests > EW )

» 1 Year Current Affairs (PDF Copy)

L >>>> % Click Here for More Details | Bank
What you will get: Price of the Kit:

Rs-5.000

e 100% Syllabus Covered RS. 2,49 9 / -

e 12 Books (Limited time Offer)

e 1300+ Pages

e 5600+ MCQs [ @- Buy Online ]

e 8 Year Solved Papers (PDF Copy)

e Five Practice Papers (PDF Copy) visa @D € Rupayy

e One Year Current Affairs (PDF Copy) Net

e Guidance & Support from Our Experts

CLICK HERE FOR MORE DETAILS
Order Online (100% Safe)

Click here for Other Payment Options (Cash/NEFT/etc)
50%

OFF

CLICK'HERE

Downl oaded From : http://bankexanportal .comn


https://bankexamportal.com/study-kit/ibps-po
https://bankexamportal.com/study-kit/ibps-po
https://bankexamportal.com/study-kit/ibps-po
https://bankexamportal.com/study-kit/ibps-po
https://bankexamportal.com/payment-options
https://bankexamportal.com/study-kit/ibps-po
https://bankexamportal.com
www.bankexamportal.com

Downl oaded From : http://bankexanportal . con

(e) All I, 11 and 111 are strong

25. Statement : Many patients suffering from malaria were administered anti-malarial drug for a
week. Some of them did not respond to thetraditional drug and their condition deteriorated after
four days. Which of the following would weaken the findings mentioned in the above statement?

(a) Those patients who responded to the traditional drugs and recovered were needed to be given
additional doses as they reported relapse of symptoms.

(b) The mosquitoes carrying malaria are found to be resistant to traditional malaria drugs.

(c) Mgority of the patients suffering from malaria responded well to the traditional malarial drugs and
recovered from theillness.

(d) Many drug companies have stopped manufacturing traditional malarial drugs.

(e) None of these

26. Statement : The cost of manufacturing carsin state A isthirty per cent lessthan the cost of
manufacturing carsin state B. Even after transportation feefor the differential distances of states
A and B and theinter state taxes, it is cheaper to manufacture carsin state B than state A for
selling these carsin State C. Which of the following supportsthe conclusion drawn in the above
statement?

(a) The cost of transportation from state A to state C is more than thirty per cent of the production cost.
(b) The production costs of carsin state B are lower in comparison to state A.

(c) Only Entry tax at state C is more for the products originated in state A

(d) Entry tax at state C is more for the products originated in state B

(e) Thetota of transportation cost of cars from state B to state C and entry tax of cars at state C isless
than thirty per cent of the production cost of carsin state B.

27. Statment : Many people are of the opinion that use of cell phonesin officesfor personal use
should totally be banned. It has been found in a resear ch study that there was significant drop in
output of employeesin the organisation wher e use of cell phoneswasliberally allowed vis-a-vis
those or ganizations wher e use of cell phones are banned for making personal calls. Which of the
following contradictsthe findings in the above statement?

(a) People spend more time on talking while using cell phone for personal calls.

(b) Use of cell phones has become common in all the organizations.

(c) In the organization where employees were allowed to use cell phones for making personal calls the
employees are found to be more motivated to carry out their duties than those working in other
organizations.

(d) Many organizations who provide cell phones to their employees for making official calls advise
them to refrain from making personal calls during office hours

(e) None of these

28. Statement : Some of the country’slargest food beverage and phar ma companies may be forced
toimport sugar directly asthe government plansto improve stock limitson industrial consumers
to ease the shortage in grocery shops and cool down pricesthat are at a 28 month high. Which of
the following substantiates the views expressed in the above statement?

(a) Food, beverage and pharma companies were not allowed in the past to import sugar.

(b) Sugar prices have been fluctuating for the past seven months.

(c) Government does not have authority to restrict purchase of sugar from the open market.

(d) Import of sugar for commercial use will help lowering down the sugar price in the retail market.
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(e) None of these

DIRECTIONS (Qs. 29-33) : In each of the questions below are given three statements followed by four
conclusions numbered I, I1, 11l and V. Y ou have to take the given statements to be true even if they
seem to be at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusions logically follows from the given statements disregarding commonly known facts.

29. Statement:

Some boxes are trees.
Some trees are horses.
All horses are fruits.

Conclusions;

|. Some fruits are boxes.
[1. Some fruits are trees.
[11. Some horses are boxes.
IV No fruit is box

(a) None follows

(b) Only either 11 or 1V follows

(c) Only either | or IV and Il follow
(d) Only either | or Il and IV follow
(e) None of these

30. Statement:

All flowers are buses.
Some buses are cats.
All cats aretigers.

Conclusions;

|. Sometigers are buses.

I1. Sometigers are flowers.
[11. Some cats are flowers.
V. Some buses are tigers.

(a) None follows

(b) Only I and 11 follow
(c) Only 11l and IV follow
(d) Only I and IV follow
(e) Only 1l and 111 follow

31. Statements:
All fans are rooms.

No room is green.
Some windows are green.
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Conclusions:

|. Some windows are fans.

[1. Some windows are rooms.
[11. Some fans are green.

IV. No greenisfan.

(@) Only | follows

(b) Only 11l follows

(c) Only 1V follows

(d) Only Il and IV follow
(e) All follow

32. Statement:

Some tablets are rains.
All dogs arerains.
All rains are chairs.

Conclusion:

|. Some chairs are tablets.
I1. All dogs are chairs.

[11. Some tablets are dogs.
V. Some tablets are chairs.

(a) All follow

(b) Only I, Il and 111 follow
(©) Only 11, 111 and 1V follow
(d) Only Il and 1V follow
(e) None of these

33. Statement:

No man is sky.
No sky isroad.
Some men are roads.

Conclusions;

I. No road is man.

I1. Noroad is sky.

[11. Some skies are men.
V. All roads are men.

(a) None follows

(b) Only 1 follows

(c) Only I and 111 follow
(d) Only Il and 111 follow
(e) None of these
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DIRECTIONS (Qs. 34 -38) : Study the following information carefully to answer these questions.

Seven students Ashwin, Devika, Baljit, Chandrakant, Urmila, Nagesh and Pranjali have taken
admissions for MBA with speciaization in HR or Finance or Marketing. Each one has got admission in
different institutes M, J, K, L, R, T, F not necessarily in the same order. At least two have opted for each
of the speciaizations. Devika has opted for Marketing but not in Institute Jor T. Chandrakant has taken
admission for HR in Institute K. The one who studies in Institute F does not study Finance. Nagesh
studies

the same specialization asthat of Devikain Institute R. Ashwin does not study in Institute L or T. Baljit
studies HR in Institute J. Pranjali studiesin Institute F and does not study marketing.

34. Which of the following combinations of institute and specialization istrue for Urmila ?

(@ L - Finance
(b) L - Marketing
(c) T- Marketing
(d) T - Finance
(e) None of these

35. Devika studiesin which institute ?

(@L
(b) T
(©F
(d M
(e) None of these

36. Which of the following groupsrepresentsthe students studying HR ?

(a) Baljit and Chandrakant

(b) Baljit, Chandrakant and Pranjali
(c) Ashwin, Baljit and Chandrakant
(d) Urmila and Chandrakant

(e) None of these

37. Which of the following combinations of institute, student and specialization iscorrect ?

(@ R-N-HR

(b) T - N - Marketing
(oL-B-HR

(d) M - D- Marketing
(e) None of these

38. What isthe specialization of Ashwin ?

(a) Marketing

(b) HR

(c) Finance

(d) Marketing or HR

(e) Finance or Marketing
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DIRECTIONS (Qs. 39-43) : Study the following information carefully and answer the questions given
below :

A, B, C, D, E, Fand G are seven persons who travel to office everyday by a particular train which stops
at five stations-1, 11, I11, 1V and V respectively after it |eaves base station. Three among them get in the
train at the base station. D gets down at the next station at which F gets clown. B does not get down
either with A or E. G alone getsin at station 111 and gets down with C after one station. A travels
between only two stations and gets down at station V. None of them getsin at station I1. C getsin with F
but does not get in with either B or D. E getsin with two others and gets down alone after D, B and D
work in the same office and they get down together at station 111. None of them gets down at station I.

39. At which station does E get down ?

@l

(b) 111

(o IV

(d) Datainadequate
(e) None of these

40. At which station do C and F get in ?

@1

(b) I

(©) I

(d) Datainadequate
(e) None of these

41. At which of the following stationsdo B and D get in ?

@1

(b) Base station
(¢

(d) Datainadequate
(e) None of these

42. After how many stations does E get down?

(@) One
(b) Two
(c) Three
(d) Four
(e) Five

43. E getsdown after how many stations at which F gets down?

(a) Next station
(b) Two

(c) Three

(d) Four

(e) None of these
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DIRECTIONS (Qs. 44-46) : Study the following arrangement and answer the questions given below :
RATM7W% JO51#1PB2TA3D$6ENFS8UH @
44. Which of the following is sixth to theright of the fourteenth from theright end ?

(@5

(b) 6

@I

(d) $

(e) None of these

45. How many such consonants aretherein the above arrangement, each of which isimmediately
followed by a symbol but not immediately preceded by nother consonant ?

(@) None

(b) One

(c) Two

(d) Three

(e) None of these

46. Which of the following isthe eighth to theleft of the sixteenth frorn the left end ?

(aJ

(b) E

(©) %

(d) 6

(e) None of these

47. Consider the following sentences:

" Now-a-daysthe FM CG companies woo their customers or buyersby selling their goods or
productsin small sachets. Thishasincreased the sale of the product” . Which of the following may
betheappropriate reason for the given facts ?

(a) People generaly want to buy any productsin small quantity

(b) FMCG companies save cost of packaging and so their profit is maximised

(c) It iseasy to store any products in sachets so buyer prefer them

(d) It is possible to assess the quality of products without wasting much money when a sachets is bought
(e) Generally people consume the whole quality of product contained in the sachets at once and so
people buy alarge number of sachets at one time.

DIRECTIONS (Qs. 48-50) : Study the following information carefully to answer the given questions
Seven persons— A, B, C, D, K, L and N — are seated in a straight line facing north in ascending order of
their salaries. N earns more than L and D. N earns more than A but he does not earn the highest. A earns
more than L. The person who earns the second highest receives asalary of ~ 35,000 while the third
lowest earner receives ~ 23,000. K earns less than L but more than D. C earns "18,000.

48. Who among the following ear n(s) morethan ° 23,000 but lessthan ™ 35,000 ?
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(@ Only A
(b) Only L
(c)AandL
(dKandL
(e) Aand N

49. Who among the following may earn ~ 21,000 ?

(a) K
(b) D
(€L
(dC
(e) N

50. Who among the following earns morethan K but lessthan A ?

(@ C
(b) N
(c)D
(d) L
(e) B

Answer Key :

1(e). 2(d). 3(d). 4(e). 5(d). 6(d). 7(c). 8(a). 9(b). 10(a). 11(e). 12
(c). 13(c). 14(d). 15(b). 16(e). 17(c). 18(b). 19(e). 20(b). 21(e).
22(e). 23(e). 24(c). 25(c). 26(e). 27(c). 28(d). 29(c). 30(e). 31(c).
32(e). 33(e). 34(d). 35(a). 36(b). 37(e). 38(c). 39(c). 40(d). 41(d).
42(c). 43(b). 44(b). 45(d). 46(a). 47(e). 48(c). 49(a). 50(d).
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